Kinn

=a|0|Q) - SAAE! HAIS 180 AEE A EHO| Y= AL S

= 2H|2lg| A OIEA Z/X
E5 4/HE 0/0Ix]

o = [= N} i
HEH OF2
AR T
o= T s, ot & AY s A2

A3 E Zah oot W 2

He

0| HSERS HSED LIAF £2(2 9] oLt
et E RFEHLICH ES LA 2220 ZX|ME
Hetr £ 2/l 0|8E = Qe MEZ X7t

=
FE o] AU&LICH QA ZHX=E Eol| ofF &=
fIxlel HEE EX[sioF ot o £2 ZX|MY
eIt @7l Xol AL ELICH HX EEE
TSz E FCOHE & F fIXIZ 0|5E = A&LICH
E=of ottt 2 #5728 e MEHPE
A2T[RE ASELICH

£

LIAF 2El2 ME{ZIS AFSE IE Afs HEH Hof
AlE Hlo{2lof TE 8 FzHer Z40| MFELICH
258 ol EWE LhA 2alEot 2
HEE S3f mYELc

AL

E AA HH L AHO|M 3.
AMAE] o

Merst 24 MFEE K0736

EH MY

EI2 B: &2 €% I3, &2 HE /U3
EIZ D: &2 &% UR, ¥ HE US

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



[ ]
iL o _=alAEI AlS ix3| A= 11 Ool= AEl =
Z2|0|] - SStAE HAE Jgl 0 S &HF EHO|U=2E =
S A A CllA =
= 2H|Ql2f|A ol A S/IX
=M
©)
D2
| ' -
| |
S l | '
Sw2 ' |
-~ I 1 1 i i |
O ¢b ). . suEs (C 1D
100318 | L) | Eif ]
D4 <! m
A
D38
00514 -0,02
E3 29
Za|n|gf olulA ERIK| fFE &3 Ho| U
FEHS Et 2 =& A D D1 D2 D3 D4 D5 L L1L2L3L4H2 AEZ3 SW1 SW2 A[ZEh Bk
S Bt 5=
F19.N F22. N
K0736.52105 B AE 5 M10x1 21 8 6 6-0,01/-0,02 435177 153 4 5 13 17 5 12
K0736.52206 B AEl 6 M12x1,5 25 10 8,5 8,5-0,01/-0,03 51,720 8 17 3 5 6 14 19 6 14
K0736.52308 B AE 8 M16x1,5 33 13,5 11 11-0,01/-0,03 68 261023 4 7 8 19 24 15 35
K0736.52410 B AE 10 M20x1,5 33 17 11 11-0,01/-0,03 74 281225 4 9 10 22 30 15 34
K0736.502105 B AEQIBAAE 5 M10x1 21 8 6 6-0,01/-002 435177 153 4 5 13 17 5 12
K0736.502206 B AHIEIA AR 6 M12x1,5 25 10 8,5 8,5-0,01/-0,03 51,720 8 17 3 5 6 14 19 6 14
K0736.502308 B AHQIAA AR 8 M16x1,5 33 13,5 11 11-0,01/-0,03 68 261023 4 7 8 19 24 15 35
K0736.502410 B AE|QlBA A8l 10 M20x1,5 33 17 11 11-0,01/-0,03 74 2812254 9 10 22 30 15 34
K0736.54105 D AEl 5 M10x1 21 8 6 6-0,01/-0,02 435177 153 4 5 13 17 5 12
K0736.54206 D AE! 6 M12x1,5 25 10 8,5 8,5-0,01/-0,03 51,720 8 17 3 5 6 14 19 6 14
K0736.54308 D AEl 8 M16x1,5 33 13,5 11 11-0,01/-0,03 68 261023 4 7 8 19 24 15 35
K0736.54410 D AEl 10 M20x1,5 33 17 11 11-0,01/-0,03 74 281225 4 9 10 22 30 15 34
K0736.504105 D AFEQlBIAAE 5 M10x1 21 8 6 6-0,01-002 435177 153 4 5 13 17 5 12
K0736.504206 D AE|QlBA AE 6 M12x1,5 25 10 8,5 8,5-0,01/-0,03 51,720 8 17 3 5 6 14 19 6 14
K0736.504308 D AE|QlE|A AEl 8 M16x1,5 33 13,5 11 11-0,01/-0,03 68 261023 4 7 8 19 24 15 35
K0736.504410 D AFHE|QlBIA AE 10 M20x1,5 33 17 11 11-0,01/-0,03 74 2812254 9 10 22 30 15 34
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



